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Problem quickname: 4288

b

Insert the missing value.

20 53 17 47 30 _ 69
a) 5T =  — &l b) 55 = 95 — ) 39 = 89 —
10 _ _ 67 3 _ 82 17 _ 8
d) &7 = 87 ¢) 15 = 100 ) s=m+
16 _ 57 29 _ 55 N1l 1
8) 7 =77 h) =% =5+t

2)
Insert the missing value.
13 _ 2 1 _ 11 25 _ 5
a) 51 =  +7% b) 3 =5 ) 59 = 29 T
4 _ 1 1 _ 2 14
) 1= —1 )z =" +3 ) 25 = 25
10 8 20 5
3= — o3 D=+
3)
Insert the missing value.
17 6 16 3 7 _
8 _ 4 16 _ 6 14 _ 7
d) 3=+ e)g= +1g f)is=1s+
10 _ 7 N 14 7 N 15 7
h) 55 =95 + DR =181 D=1+
4)
Insert the missing value.
5 3 9 20 117
a) 55 = —1i1 b) 55 = 55 — €) 1= 98—
3 _ _ 5 17 _ 1 1 _ 10 _
) g = 12 f)os =11+ 8) 3= 21
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Worksheet

=l

04/30,/2018
12 85
1 1
3= —%
13 5
h)y 1= +15
16 6
g =t
14 1
d) 7= +3
23 2
hyZ= 42
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Good Luck!
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